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1.4 Perform the following unit conversions:

(a)1L|00353ft3||12|n| e1inde
\ 1L | 1ft |

|1kJ | 1Btu

= 0.616 Btu«—
1103 J]1.0551kJ

(b) 650J

(c)0135kw|3413|3tu/h 1h ||778.17ft-|bf|_99 596ft Ibf(_
' | 1kw  |3600s| 1Btu | -

89|1kg|| 1l [ 60s|_.  Ib

d) 37 -
@ ‘103 HO 4536 kg||Lmin | min -
i 2 3
(© 304kpq LFN2 10 Pal _ 1) oo 10F
16894.8Pa 1kPa | - in.2
3
0 55 M°[3:2808f°| 1h | _ o, f°
h| 1m | [3600s| s
3
(a) 50 km|10 m(3.2808ft| th | . ft
h [1km| 1m [3600s| s
(h) 8896 N | 1ibf | 1ton |_ Lton<

|4.4482 N || 2000 Ibf |
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1.5 Perform the following unit conversions:

3

(a)122m3| 1om® | im L |, e
10.061024in.3 102 cm| 103 m3|
1KJ

(b) 778.17 ft-Ibf|—— >
737.56 ft - Ibf

‘ =1.0551kJ «—

1kW
1.341hp

=T74.57 KW «—

(c) 100 hp‘

Ib| 1h 1kg | 0126kg

(d) 1000 =
h |360052.2046 Ib|

Ibf 6894.8Pa|LN/m?| 1bar | _

€) 29.392
© in2| 1lbf/n.2 | LPa |10° Nim?|

2.027 bar «<—

3 31 mi 3
ft |0.028317m ||1m|n|_1.18m_(_

2 =
(f) 2500 min‘ 1ft3 “ 60 | S

mile |1.6093 km/h| _ 1207 KM
h | 1mileh |

(@) 75

2000 Ibf | 4.4482 N|
|1to | 1bf |

(h) Lton 8896 N «—
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1.6 Which of the following food items weighs approximately one newton?

a. a grain of rice

b. a small strawberry

c. a medium-sized apple
d. a large watermelon
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1.7 A person whose mass is 150 Ib weights 144.4 Ibf. Determine (a) the local acceleration of
gravity, in ft/s?, and (b) the person’s mass, in Ib, and weight, in Ibf, if g = 32.174 ft/s°.

(@) Fgrav =mg —

Forav _ 144.41bf [32.174 1b - ft/s?| _

= 30.97 ft/s*
m 150l | 1lbf |
(b) Mass value remains the same. So
Fgrav = Mg = (150 Ib)(BZ.lME\| Llbf |- 150 Ibf

s2 )32.1741b - ft/s?|
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1.8 The Phoenix with a mass of 350 kg was a spacecraft used for exploration of Mars.
Determine the weight of the Phoenix, in N, (a) on the surface of Mars where the acceleration of
gravity is 3.73 m/s* and (b) on Earth where the acceleration of gravity is 9.81 m/s?,

KNOWN: Phoenix spacecraft has mass of 350 kg.

FIND: (a) Weight of Phoenix on Mars, in N, and (b) weight of Phoenix on Earth, in N.
SCHEMATIC AND GIVEN DATA:

m = 350 kg

gMars = 3.73 m/82

Oearth = 9.81 m/s?

ENGINEERING MODEL.:
1. Acceleration of gravity is constant at the surface of both Mars and Earth.

ANALYSIS: Weight is the force of gravity. Applying Newton’s second law using the mass of
the Phoenix and the local acceleration of gravity

F=mg
(@ On Mars,
F = (350 kg)(3.7322)$2 = 13055 N
s J|1kg-m/s
(b) On Earth,
F = (350 |<g)(9.81£2j$2 = 34335 N
s J|1kg-m/s

Although the mass of the Phoenix is constant, the weight of the Phoenix is less on Mars than on
Earth since the acceleration due to gravity is less on Mars than on Earth.
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£q9. /B Js uwsed both parts i m=wm /M, where M G Fon T<bleg A-/,

(«) M=z Mn , where w = 20kmel.

Air i wa = (28.9F ka/kmel) (20 kwol) = 579. 4 K9

C 3 m = (12.01 ky/ kmol ) ( 20 &md) = 240.2 k9
U, 0: mz (1802 k9) kwol )(Wkmol) = 30,4 kY -
Cop: wm = (44.00 Kg/kwmol) (20kmel) = 880, 2 k3

(.bJ ""-“’"O/M‘, Wwhere wm= 50 b,

Hy: wz(seolb)](z.606 l6)ibmol) = 24,302 lbmio/
noz ($218)/(28.00 Ib)lbmal) = 1.7 85 1wl
he (S0I6)/ (1F.0316]lbasl) = 2.93C lbmo/
na (5014)] (4409 16/ l6mal) = 1134 [bmel

NL'.
N{-!3:
Gt
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PROBLEM IO
Using magntedes,
[Fl = wloc] , lal=60g9
= w\(éoa) = GOMS

2 o ( solb)3222 .{af)

| 165

i -
32.2 Ib- ft/s* *

rouncled
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1.11 At the grocery store you place a pumpkin with a mass of 12.5 Ib on the produce spring
scale. The spring in the scale operates such that for each 4.7 Ibf applied, the spring elongates one
inch. If local acceleration of gravity is 32.2 ft/s?, what distance, in inches, did the spring
elongate?

KNOWN: Pumpkin placed on a spring scale causes the spring to elongate.
FIND: Distance spring elongated, in inches.

SCHEMATIC AND GIVEN DATA:

ENGINEERING MODEL.:
1. Spring constant is 4.7 Ibf/in.
2. Local acceleration of gravity is 32.2 ft/s?.

ANALYSIS:
The force applied to the spring to cause it to elongate can be expressed as the spring constant, k,
times the elongation, x.

F = kx

The applied force is due to the weight of the pumpkin, which can be expressed as the mass (m) of
the pumpkin times acceleration of gravity, (g).

F = Weight = mg = kx

Solving for elongation, x, substituting values for pumpkin mass, acceleration of gravity, and
spring constant, and applying the appropriate conversion factor yield

(12.51b 3221
(M9 _ §2 11bf

k (4.7'_”] ‘32.174"O 1t

= 2.66in.

n. 82
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y clctcrmlnmg the weight of the object (F grav) Using the deflection (Ax) givenas 1.8
inches.

=1.8 inches = (0.14 1.

Ibf (Fgra\-)
(Fppg) = 2 NS 12 86 11t e

(0.143) _ j
The mass can be solved from the
eXpIession Fg,,, = mg. [@
(Fr) 12.8616f 3221107
mo= L8113 361
g 314 11bf 4
m =13.361b +— J—

State | State 2
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PROBRLEM 1.|3
Weish't. refers +o Ha force of gnw"ﬁ’i FSn.v = mgq .

Thus, when her wass is 12016 and weight w 11T lf;, we hawe

Frav 119 nhf!ez.m f*-#h“] = 31,906 Ft/5> <« —

3= wAa " ize lb

1 b+

When her mass w 2o lb and g= 3;.:35‘-{&/;“1 e have

Gzolb)(32- °°F*/°)l ‘%J%ET-F_P;]

= 119.5% lb-f: -

Fray = Mg

COMMENT, Her wmass remains constant, bPut weght depends
on the locel accelerathon of fjf"ﬂ\'l'*&.

PROBLEM |-14

Tha oactuvel forces ceveloped when birds and awvcraft collide are diffrcult +o
dederning prtucr-h.J but eshmates can lase calcalated ysinsg average Valyes of

accelerahon and Horce mnjru’h«.de;Jq; -F.,”g..-u;:

Tha joese & accelerate d -G‘cw.. o \lera low vg!oc.;i-«, o Ifom'fes/h-

e 035 . Thus +he averye. celerahom magnibude ©
5260F s
|a|= 150 miles/l, - © |_-_i.ﬁ ﬂ_,tz-.z.zwv it
poer 36005 || dmile s*

Thae majmhde of +ha average force applied v

{F] = h]cx| = Qllb)(&’-‘lﬁ‘b 'H—)l u‘tu:i e l Bz,naﬂibf o

@i

PROBLEM LIS~
m= 45 (b =
ac< 3g ), where 9= 32.2£#/5
l ZE = ma
thltcﬂn: air rfhshnf_f‘,
qud\'

F‘Fgr:.v = oo
5 F=wa -+ fRQav

T mo + M9 :n(‘aa).bma
w (49)
: ik I = (BIeS Tt

o sa )

nN—_—>
r—‘-'ilu
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PROBLEM I.16

The FBD of the objcct_is as shown with an upward applied force of 10 Ibf and the force
dpmlward due to gravity Where Forav=mg and g is given as 32.2 fi/s>. Summing forces
yields the following equation that can be rearranged to solve for acceleration. It is
assumed that up is positive. l

Fypea =10 Ibf
m =501b
o 322& Fapplied

SZ

ft
a = ‘?;'2*
"Fappllcd - Fgrw = ma
Fgm =mg
F =

5 Fapp]icd = Fg‘rav - anpiicd —mg _ Fupplll:d 4 go e

m M N 4l - é

S0Ib | ubf | T

a=-25.28 —g— downward -
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1.17 A communications satellite weighs 4400 N on Earth where g = 9.81 m/s?>. What is the
weight of the satellite, in N, as it orbits Earth where the acceleration of gravity is 0.224 m/s*?
Express each weight in Ibf.

KNOWN: Weight of communications satellite on Earth.

FIND: Determine weight of the satellite, in N, as it orbits Earth where the acceleration of
gravity is 0.224 m/s®>. Express the satellite weight, in Ibf, on Earth and in orbit.

SCHEMATIC AND GIVEN DATA:

WSat(Earth) = 4400 N

Jorbit = 0.224 m/s?

ENGINEERING MODEL:

1. Gravitational acceleration on Earth is constant at 9.81 m/s®.

2. Gravitational acceleration at orbital altitude is constant at 0.224 m/s?.

ANALYSIS: Weight of the satellite is the force of gravity and varies with altitude. Mass of the
satellite remains constant. Applying Newton’s second law to solve for the mass of the satellite
yields

W=mg — m=WI/g

On Earth,
M = Wsatarthy/9€arth

_ (4400N) [1kg-mis?|_

1N
g

Solving for the satellite weight in orbit,

4485 kg

Wsat(orbity = MYorbit

IN

=100.5N
1kg-m/s

m
Wsat(orbit) = (448.5 kg)(0.224—2j

S 2

Although the mass of the communications satellite is constant, the weight of the satellite is less at
orbital altitude than on Earth since the acceleration due to gravity is less at orbital altitude than
on Earth.
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To determine the corresponding weights in Ibf, apply the conversion factor, 1 Ibf = 4.4482 N.

11bf
4.4482

Wsat(garth) = (4400 N)‘ N‘: 989.2 Ibf

1lbf

Wsat(orbity = (100.5 )‘ N‘: 22.6 |bf
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PROBLEM | |8
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PROBLEM .19

1. The weight of the tower itself is ignored.
2. Local acceleration of gravity is 32.1 ft/s>.

3. P = 62.4 I/}

The structure must exert a minimum force equivalent to the weight of the water, which can be
expressed as the mass (m) of the water times acceleration of gravity, g.

F= Weight = mg

The mass of the water can be determined from its density times the volume the water occupies

3
m=pV= (62-4%](1,000,000 gaq&mﬂ

= 8,341,632 Ib
1 gal

Substituting for mass and acceleration of gravity and applying the appropriate conversion factor
yield

11bf

F=mg= (8,341,632 lb)[32.l f—iJ = 8,322,446 bt - s
S

PROBLEM |20

e} F:.}"‘V = i 3 an.ble A=l

o5 = 3 k3 -
U.Suv\s E‘i' r.'ﬂ‘? w=h M = D.Shmol(l7°3ml> = 2572 k3

d - —
g2 T50m Js- s @SR ) | ] eV e Ry
(o)
Ve e ke " V. ew 3
V= .o = = 2 = e -0 Yok e
" i =R = 8.82Kk9 ° ?04? el 4
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1.21 A 2-Ib sample of an unknown liquid occupies a volume of 62.6 in.> For the liquid
determine (a) the specific volume, in ft*/Ib, and (b) the density, in Ib/ft>.

KNOWN: Volume and mass of an unknown liquid sample.
FIND: Determine (a) the specific volume, in ft*/Ib, and (b) the density, in Ib/ft*.
SCHEMATIC AND GIVEN DATA:

m=21Ib
V =62.6in2

ENGINEERING MODEL.:
1. The liquid can be treated as continuous.

ANALYSIS:

(a) The specific volume is volume per unit mass and can be determined from the total volume
and the mass of the liquid

v _626in3| 1ft |

== 5|= 0.0181 ft*/Ib
m 2l [1728in3]
(b) Density is the reciprocal of specific volume. Thus,
p:lz 1 5 =552 Ib/ft3
v ft
0.0181—

Ib
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PROBLEM 1.27
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1.23 The specific volume of 5 kg of water vapor at 1.5 MPa, 440°C is 0.2160 m*/kg. Determine
(a) the volume, in m*, occupied by the water vapor, (b) the amount of water vapor present, in
gram moles, and (c) the number of molecules.

KNOWN: Mass, pressure, temperature, and specific volume of water vapor.

FIND: Determine (a) the volume, in m?, occupied by the water vapor, (b) the amount of water
vapor present, in gram moles, and (c) the number of molecules.

SCHEMATIC AND GIVEN DATA:

m =5 kg

p=1.5 MPa

T = 440°C

v =0.2160 m*/kg

ENGINEERING MODEL.:
1. The water vapor is a closed system.

ANALYSIS:
(&) The specific volume is volume per unit mass. Thus, the volume occupied by the water vapor
can be determined by multiplying its mass by its specific volume.

3
V=mo=(5 kg)[O.ZlGOT—J= 1.08 m°
g

(b) Using molecular weight of water from Table A-1 and applying the appropriate relation to
convert the water vapor mass to gram moles gives

n= m_ 5 kgk )IlOOO moIesI = 277.5 moles
M 18.02 g J 1kmol
kmol

(c) Using Avogadro’s number to determine the number of molecules yields

023 molecules

# Molecules = Avogadro's Number x # moles = (6.022 x1 I
mole

j(277.5 moles)

# Molecules = 1.671x10%° molecules
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PROBLE 2

The FBD of the piston is as shown with a downward force due to the atmosphere (Fa)
where Faum = Paum Apision and Apision 18 the cross sectional area of the piston. Another
downward force is due to gravity (F grav) Where Fyry = Mpigion g and Mpiston 18 the mass of
the piston. The upward force (F, gas) 1S due to the pressure exerted on the bottom face of
the piston by the substance where Fy; = pgas Apision and Py is the pressure of the gas.
Summing forces yields the following equation that can be rearranged to explore whether
Pgas 18 constant. It is assumed that up is positive.

FE“ - Fgruv + Fum Fatm
Fgas = pg,nsAp ‘L‘gm\- = mpismn g an = pnunA

pgas A piston = mmsmu g + pnrm A piston

Moson & . Pitm DA Mision &
- piston atm pislon piston O
= + ] F‘ F'
P " + Pam grav gas

piston A piston A piston

piston

Since each of the four quantities on the right-side of the above equation is constant, it
follows that the pressure acting on the bottom of the piston remains constant, <———

Volume change occurs as the gas is heated or co
g 2 g oled. )

PROBLEM |.2¢&

Since the piston wmoves -Sﬂnen'iﬁllv wtern e c‘yfmdrr-, +he
piston begins to ¢iS€ (hen +he force exerted by Hal

gas exceeds tha resishng force cowpored of Haa piston
weisht and +ha ferce exerid by tha o trwerphorsc Presiure.

That is, Fatm
l Weight

Fgas 7 we-*ﬁw‘ t Bt

P&ag A )/ il = Fadm A
TF’.S
S Prs 7 -“%% + Patue
(50K9)( 9-81w/ S'J] dbar || IN
->’ [ 0.0l m* 0¥ Hln"‘ 1ege= 5% e
),' .49 bar e A
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1.27 Three kg of gas in a piston-cylinder assembly undergo a process during which the
relationship between pressure and specific volume is pv°° = constant. The process begins with
p1 = 250 kPa and V; = 1.5 m® and ends with p, = 100 kPa. Determine the final specific volume,
in m%kg. Plot the process on a graph of pressure versus specific volume.

KNOWN: A gas of known mass undergoes a process from a known initial state to a specified
final pressure. The pressure-specific volume relationship for the process is given.

FIND: Determine the final specific volume and plot the process on a pressure versus specific
volume graph.

SCHEMATIC AND GIVEN DATA:

State 1 State 2
r-= Process 1— 2 — r T T T !
' ' ! Gas |
| Gas| pv®® = constant L I
m; =3 kg m, =3 kg
p, = 250 kPa p, = 100 kPa
V,=15m3

ENGINEERING MODEL.:
1. The gas is a closed system.
2. The system undergoes a polytropic process in which po®° = constant.

ANALYSIS:
The final specific volume, v,, can be determined from the polytropic process equation

05_ 05
plvl - pzvz

Solving for v, yields
1

0= Ul(s_;]o.s

Specific volume at the initial state, v, can be determined by dividing the volume at the initial
state, V1, by the mass, m, of the system
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Substituting values for pressures and specific volume yields

1
m* ) 250 kPa \os ;
=05 - 3.125 m¥/kg
% ( kg J(loo kPaj

The volume of the system increased while pressure decreased during the process.

A plot of the process on a pressure versus specific volume graph is as follows:

Pressure versus Specific Volume

260

240 N

220 \

200 N\

180 AN
N

160

140 \
120 \

100 T T T T T
0.50 1.00 1.50 2.00 2.50 3.00 3.50

Specific Volume (m™3/kg)

Pressure (kPa)
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1.28 A closed system consisting of 4 Ib of a gas undergoes a process during which the relation
between pressure and volume is pV" = constant. The process begins with p; = 15 Ibf/in.2, vy =
1.25 ft¥/Ib and ends with p, = 53 Ibf/in.?, v, = 0.5 ft*/Ib. Determine (a) the volume, in ft?,
occupied by the gas at states 1 and 2 and (b) the value of n. (c) Sketch Process 1-2 on pressure-
volume coordinates.

KNOWN: Gas undergoes a process from a known initial pressure and specific volume to a
known final pressure and specific volume.

FIND: Determine (a) the volume, in ft*, occupied by the gas at states 1 and 2 and (b) the value
of n. (c) Sketch Process 1-2 on pressure-volume coordinates.

SCHEMATIC AND GIVEN DATA:

State 1 State 2
I
o | I
: | o
m=41Ib p, = 53 Ibf/in.2
p, = 15 Ibf/in.? v,=0.5ft3/lb
v, = 1.25 ft¥/lb

ENGINEERING MODEL.:
1. The gas is a closed system.
2. The relation between pressure and volume is pV" = constant during process 1-2.

ANALYSIS:
(&) The specific volume is volume per unit mass. Thus, the volume occupied by the gas can be
determined by multiplying its mass by its specific volume.

V=mo
For state 1

ﬁ3
Vi =moy = (41b) 1'25W =5 ft®
For state 2

ﬂ3
V, =mu, = (41b) O'SE =2 ft?
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(b) The value of n can be determined by substituting values into the relationship:
p,(V))" = constant = p,(V,)"

Solving for n

2
In( le In£15lbf/|n.J
53 Ibffin.?

n-—P2/_ =138

—_ - 3 -
In(VZ) In 2ft
Vi 5 ft3

(c) Process 1-2 is shown on pressure-volume coordinates below:

Process 1-2
60 -
State 2

Pressure (Ibf/in.2)
w Y a1
o o o

N
o
I

State 1

=
o
I

Volume (ft3)
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PROBLEM .29

Process | — 2 5
Ed o j

= in 2
;:f _20(()] ]\bjf/m‘ p1=40 Ibf/in 2
,=2.0 ft V=35t

The pressure-volume relation is linear during the process. Therefore,

P=—pP _P,— D pP-p
e and V=—"""L(W, -V )+V
V—VI ;Vl—lfl pz_‘pl(z I) 1
Using given data where p =150 1bf/in.’
(150 - 200) @ "
V= 1';; (B.5-2.00ft +2.01t = i(I.S)ft3 +2.0f° =257 <+——
(40-200) > =t
in.
p (Ibffin.2)
4
]
2001
150 i S
40 —+ 2
| | |
i [ i > V(%)

2 ? 3.5
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PROBLEM 1.30

Since +W& pisten nover sm.sa-phl)f writhin +asr cyfinder, the force ®xeried

bﬂ twe a3 equals +the resiskng force conposed a,z tha pisten werghd
shate  weight, force exerted by tha atiwesphari’e pasrrure , and
. -G:rtc a('h'\f\J 6w e T\-\'giu F. That I;s, tos Fona of +he -Fcl"‘('l."J

achng vcrhc.gn‘? ‘s zZero, ﬂlvfﬂj

iston
F&as [NHUH [wngk + Fadws +F
Salving

F= Faas - Eﬂ‘:ﬂ 31.4 Fatnn *)

T Heag lﬁ-lu\.assim,

qu; = Py...s A‘p ) where AP o Hea piston frce avea:

: 2
A'—_- _7_':_2 - 'n'(mcu): 7.‘_31-.;-_,.:_

Fyas = csm)] x ”/"

(7&5\{«) ™" 2 28562 N

Iu cw

THa putrufe o f +hae ateerphaca acts oaly o +ea Vet areo af tht fop of e

Piston — namely , tha piston face areo. Ress the arce ocsupied by TEt
sheft, Tha force & thén

Fatm = Patm [ Ap=A)

= (Abar) (7854~ 0.8) - """"” im | =z s;an

{ bar lo¥em

Tha totet weight of Ha piston and sh-o-ﬁd-l-;'l

Toht weaghi

il

C™paion + mﬁhn{d’) ¥

@iga—)tq - )liugu“-
Collecking resully, E‘}(*) Aivas

- 2453 N

F = 23561N— 2483N- F774N"

1333.5 N

1

B
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1.31 A gas contained within a piston-cylinder assembly undergoes four processes in series:

Process 1-2: Constant-pressure expansion at 1 bar fromV, = 0.5 m?® to V,=2 m?®

Process 2-3: Constant volume to 2 bar
Process 3-4: Constant-pressure compression to 1 m?®
Process 4-1: Compression with pV~' = constant

Sketch the process in series on a p-V diagram labeled with pressure and volume values at each
numbered state.

p (bar) 4
2T /47.3
1+ &
1 2
I I | > V (m3)
05 1
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PROBLEM [.32

&) We have R = PS‘“ and Paz=R. B v

Puatm P\&IUA""QJ Lsi E . .’!
Gas at Hj Lig
pressure p

: @llec#v_nj res u.l'lt.l'_)

= Pqas = R"-*"‘"'uﬁva[‘

where Ay = 997 lr.n/m'? and 8:‘!»8!‘“}51.
Selving (—w b

Jangnll
L e Ghes— Putw) | Go&'=1Ybar | Tbar
l\i«’i;:lr;omclcr N 3’ ‘I‘l?‘ q.5lm

liquid ( X )li‘s ﬁ/s"l

= Sl wm ]

(b) Following the appeeach of part(a) with Pme VS1E , Qims= ;:s'a......;.b
Cwm

; lagNluT
For Example”
L Ps“‘ - s i (].3 . I) % ms‘ N/“'L (Sceon I: l:.;m
(359 3 \|_2Xx3) 10t cm3
% ) ‘“"') m‘}ll, -‘-':I v )Itua /e
= O.?.'lSMI —-T%"—lf‘.ll-a' cm 4

PROBLEM |.33

Considering a. wanometer like +hat shown in ﬁ’ K anbnradnd’ b,
S'iw‘}x fnie by a Ane Liled  with 9gas; we have p, = Paas and

P"Pb s Pb is evalva-ted ut-hj E‘l" ' C‘H(:'ﬁhs p‘.EuH:J

ixy. w-j:'4

Faas = Patm+ P§ L

1xf

10° N/m®

= |0l kB + QSS‘M des | ""'* (23! )(4»-.)

g || 4w

=10l g Py + 133.3 kfq_

= 2343 xfa Sy
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PROBLEM |34

Pam = 1 bar

Inlet

Receiver
tank at
200 kPa

Gas compressor

Fig. P1.34

Converting the local atmospheric pressure to kPa, we get pam = 100 kPa. Since the

pressure in the tank, 200 kPa, is greater than the atmospheric pressure, the Bourdon
reading is a gage pressure. Using the following relationship, Pgge = Pabs — Pam the
Bourdon reading is 100 kPa. -

PROBLEM  |. 35

See Hj. PI1-3& ", APPhaJna-Hu panapler discosred WL Ceec. LGl N

s fure v
_ o Pt 3 2
= gl s e e

( . ;‘3 :?%l }%J{Q‘RJ?_‘) | N

= 0.?5’5-“}‘93'“'“
| 4w

= "?'b_b WMH
¢ e

Cm\,rg-p-‘n\\ﬁ +o ;”_H;AJ

L'—'— F50 wim H?

dem K Lin. '_ -
Io»v._—w. 2.5‘%“&‘_ 29.83 in. g W,
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1.36 Liquid kerosene flows through a Venturi meter, as shown in Fig. P1.36. The pressure of
the kerosene in the pipe supports columns of kerosene that differ in height by 12 cm. Determine
the difference in pressure between points a and b, in kPa. Does the pressure increase or decrease
as the kerosene flows from point a to point b as the pipe diameter decreases? The atmospheric
pressure is 101 kPa, the specific volume of kerosene is 0.00122 m*/kg, and the acceleration of
gravity is g = 9.81 m/s°.

KNOWN: Kerosene flows through a VVenturi meter.

FIND: The pressure difference between points a and b, in kPa and whether pressure increases or
decreases as the kerosene flows from point a to point b as the pipe diameter decreases.

SCHEMATIC AND GIVEN DATA:

Pam = 101 kPa
g =9.81 m/s?

Kerosene
v =0.00122 kg/m?

4

ENGINEERING MODEL.:

1. The kerosene is incompressible.

2. Atmospheric pressure is exerted at the open end of the fluid columns.

ANALYSIS:

Equation 1.11 applies to both columns of fluid (a and b). Let hy, be the height of the fluid above

point b. Then hy, + L is the height of the fluid above point a. Applying Eq. 1.11 to each column
yields

Pa = Pam + pY(hy + L) = Pam + pghy + oL
and
Pb = Patm *+ pGhp
Thus, the difference in pressure between point a and point b is
Ap = pb—Pa = (Patm + PGNb) — (Patm + o8Ny + pYL)

Ap =—pgL
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